080k (UIRIDE—1 (2) BUR)

INEREEERASH B
HOEEER A EQCE H B ESE TS R E)

®
T

t®

H

map

(femdrE) 1 RGOS, 0E A% H1745%, HH ABEES 069925 5 3001 DB RS,
2. AEFL, EAESKFLI2-2096,2097TD28MVET S,
3. BEORERIE, &Lﬁﬁﬁ‘iﬁﬁiﬂm‘:{ﬁ"a&
4, EFE. ERAERE (S8R Ed ) (004 ) oW CIREEEORIE BT,
5. WAGI BB, AEFQDG- SSEEKDA ( E54RT B 15600 ke ) 38R 0502 THRE LI,
FEH TR EHERORNSEYER TS, ( 3001 )
| E i BEE | R 5 B TR g | BE-TRE
B &l 2FAT a¥ A5 ® H E B A _—
B |  KFL32 KFL328k B KB & B kg 23200 22900
TiE ®iE e =10t
BB E 0B e ek | T A RIRTAAE 9500 8550 1 11990 ke)
H A =%/ s =10t
H K D B K BN Bl s 9150 110000 ke)
AR EECEE: A | R <10t
B oe & OB-A — — HiREE|EAIEAE 8800 9145 =
SR DXREstNley —— — ke {10000 k)
12.515 9,440 | =(12m) : .
& a ™ (11935 | (8.730) wEaWE 8800 g4 T
3 m|  2.490 2.490 =2.5m (10000 ke)
i & m|  2.275 3.780 |=3.8m =20t~28t
: 6.910+1.300 | 4.550+1,300 Eis 35900 35990
i B m{  +1.300 +1.300 ‘ (39480 ke)
=9.510 | =7.150 BARE _E 49 %3 4132 ﬁ}%gsﬁb
& B m“ﬁﬁ [ — B AE CH 49 X1 41 %2  |[FOM=30°
% B 1845 1.845 BIBTEH | — [ — k)
J1ZEA X EE & ml 12,180 8.100 F A | ATtEES [11R22.5-14PR| 11R22.5-14PR{( 10000 ke)
o D RE m|  2.440 2.300 ¥ A X! $BHTEE [11R22.5-14PR] 11R22.5-14PR] (10000 ke)
Mot EE En ——— 1.370 4% {% 1 §11R22.5-14PR| 11R22.5-14FR| {10000 ke)
RiTBT 1380 2680 BRTTE | %8 E| -—— — DT
AtRENE] 2100 3470 B A E E| — — |
B OE REAEE 2110 3470 et <1/2911/20,2/3
kg [BEhE] 2110 3470 Vredmsenyml 2425 1250 S ss m)
. ' Wat7Eybm| 2365 1.500
_ G R 13090 B E R Em 10.2X1 8.3%2 |=12m
B BRSO
GYWR (1) 3 bl~SHAOERHER GVWR {t) I -SOFRBER
25 ':--“—'"'"'"—""“"“"--'-'--“"'""r"'""""‘"*“’Ir“*“‘“*"‘*l\ BB e e e S S s T H
. § § T P
23 freeemossessss s : H 25 4 ! P
PP R SUU—— 2 : 244 i P
! 1 H H ! ! T e ! H H
L S 1 ! ! ! : 22 drmmmomee e 4 i { H
20 darenenees 4 E i ! ! 21 eenned | Pl
18 b R : 20 Seeneoet ; i P
S e ¥ m O ey R T o 5T W
REtEahER 1.8mARH L.8mPA & T.3mbL F1.85k (1D Bailc i ol AN 5LEL F Ch ot
BRI ER ke = 18t ke =20t 18295 kg =19t
TE 7] 9% % = T 5l o
BiH — N 60 km/h og/o ——=/) ———= —= Z 1.8
OB R H|EEEE 0.609 I T e W
ZEIE 650 kPa B ERE A Flog/o —/ —-=-— =18
# [ e BrNg/Np — /S —— = — 2 1.3 ] ocp/o 1520/ 928.45=1.63 = 1.6
ﬁ B EBloyr — )/ —— = -~ = 1.6ﬁ % B MK oy/o 1370/ 928,45= 147 = 1.3
T, cp/c 490 /16945= 289 = 16|H BYE B M Flopg/o —/ ——= —— 21§
+ oy/o 325 /169.45=1.91 = 1.3[# # % & 5 Hiop/oc -——/ ——= — =216

L BEARATRIEL, 1% % Ll O — ., B LICb O X B AT HL,
Vo, B SR AL AR S R BE, HBIISC CIRRIE B 2B - BBk Bl TED,
13, REETORIL, BAERUTERSHFMNSORMREHERITHIL, (9. (DR

4, KUV 3 YPDG-EXDS2ES, 21 H B QDG-SSIEKDAL DB AL ES- 4,

Y%92!7




